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  invariante	
  de	
  2	
  leptons	
  m(l+l-)	
  
•  Au	
  début	
  du	
  LHC,	
  

ATLAS	
  	
  a	
  redécouvert	
  	
  
les	
  par>cules	
  connues	
  
du	
  Modèle	
  Standard:	
  	
  
J/ψ,	
  Υ,	
  Z,	
  etc.	
  	
  	
  	
  avant	
  
de	
  rechercher	
  des	
  
par>cules	
  nouvelles	
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Z’	
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Z	
  	
  

Υ	
  J/ψ	
  

•  Vous	
  avez	
  redécouvert	
  	
  le	
  
J/ψ,	
  Υ,	
  Z	
  à	
  par>r	
  de	
  leur	
  
masse	
  et	
  	
  modes	
  de	
  
désintégra>on.	
  	
  

•  Le	
  Z	
  ne	
  fait	
  pas	
  de	
  
différence	
  entre	
  e	
  et	
  µ	





H	
  à	
  γγ	
  avec	
  2	
  M-­‐1	
  :	
  difficile	
  à	
  voir	
  
le	
  signal	
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M	
  (γγ)=125	
  GeV	
  

ú  Avec	
  25	
  M-­‐1	
  .	
  on	
  	
  voit	
  
clairement	
  le	
  signal	
  au	
  
desss	
  du	
  bruit	
  de	
  fond	
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  (µ+ µ-)	
  dans	
  ATLAS	
  :	
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  boson	
  Z’	
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